Downeast/Sunrise Trail Extension 14204
Ellsworth-Hancock

ADDENDA
ADDENDUM NUMBER 3

DATE: March 18, 2016
PROJECT: Downeast/Sunrise Trail Extension

PROJECT NUMBER: 07034

OWNER: State of Maine: Department of Transportation

MANAGER: Maine Department of Agriculture, Conservation and Forestry
ENGINEER: Plymouth Engineering, Inc.

TO: All Plan Holders

This Addendum forms a part of the Contract Documents and modifies the Bidding Documents
dated March 1, 2016, Addendum #1 dated March 16, 2016 and Addendum #2 dated March 17,
2016, with amendments and additions noted below.

Acknowledge receipt of this Addendum in the space provided in the Bid Form. Failure to do so
may disqualify the Bidder.

This Addendum consists of one (1) page and is in the form of additions by the Engineer.

1. Drawing S2 is amended as follows. Detail 5/S2 has been revised to indicate the attachment of the
wood framing to the steel beams.

2. Where treated wood interfaces with the bridge steel beams, two layers of roof underlayment
cemented together or a self-adhering polymer-modified bitumen sheet shall be installed.

END OF DOCUMENT

Plymouth Engineering, Inc.
P.O. Box 46, 30 Lower Detroit Road
Plymouth, Maine 04969 lofl Addendum #3



J\2014\ 14204 — Downeast—Sunrise Trail Extention — Ellsworth — Bureau of Parks & Lands\J. Drawings\BUILDING\14204—S.dwg

Bl g
r/ < X
§ n
L
’ ”» Z
R /L 4'—0" MAX ‘ﬁL
= I %
/ ] 13°=7"
r
/’/ / - % 6
/ 0 L
[ ~
E———— TT1 / o ~ T 'L' W ﬁ ® %
| T I T 3 > o
[ | i - | AP
/\/ ~_——W16X89 STEEL BEAM | . - = z
/ T 2
2x CAP PLATE NOT = = 5 < 2
SHOWN FOR 6X6 @ 12" 0.C. T
CLARIFICATION PURPOSES _—\_L - =L - // | ,,Z ) ” 5
[N ‘ 2x (MIN 2x6) P.T. DECK LAID TIGHT f - i - I T R +
cl 1 | | I S
Al { . OVER 2x8 P.T. DECK. BOTH LAYERS / I I L—l | I / . B S
/\ - TO RUN PARALLEL W/BRIDGE / i h i i 7 T.0. DECK \T\ STAGGER JOINTS s
I B lj>-<| 1 R L B A )
; S — R i =T — i —— i Wv - - o _
é Hﬁ _ e e o ! F==Fli7 | <=41==1 ! F=oF i~ / 6 —1 6 -9 6 -1 9 -
! ) ~ j : o Y G ' aS 5 x o s
@ 6x6 P.T. BUMPERS W/ 6x6 P.T. Z i 4 gl N | BRIDGE DECK SECTION /3 = "
||~ BLOCKING SEE 5/52 ] 4 SCALE: NTS \5_2/ O S
EVERY 48" MAX — EXTEND 6x6 P.T. / <2 ) >
/\/ 3’ PAST THE END OF THE DECK | NOTCH 6x6 TO ACCEPT 2x6 NEW CONTINUOUS 6x6 P.T. -
,f §o)
% és& 4/52 FOR RAILING DETALS | 50" MAX " NEW 2x6 P.T. BLOCKING BEYOND 9 S
I \ EMBED 8” ¢ TREATED POLES A MIN X £
: OF 36" & EXTEND 48" MIN ABOVE . g
& NSHED GRADE SPACED 24 7 1 (1) 34 8 TRPLE DPPED GAVANIZED v
MAX — TYP. BLOCKING. USE WASHERS EA END. 5O
— » ” L _E
@ (3) 3/8°x8” RSS SCREWS STAGGERED = S ®
RAILING ELEVATION W/OUTRIGGER 20\ Qo :_[l
OBJECT MARKER TYP EA SIDE N 2x (MIN 2x8) ROUGH OAK SCALE: NTS \\sy 935 =
OF TRAIL & EACH SIDE OF — DECKING OVER 2x8 P.T. PLANKS C S iy
BRIDGE (NOT IN CONTRACT) FASTENED WITH TIMBERLOK 4” c L A
WOOD SCREWS e w
BUILD SURFACE UP TO ~ g )
MEET DECKING TYP 3/4”X6” ANCHOR STUDS ﬁ %~ 0
3" FROM EACH END OF " 9 3|
i 10X12X1/2"CAST IN BEAM O 3| ¥
ATTACH P.T. 2x6 RAIL TO POST W/(4) 3 L4X3X1/2" 10" LONG ON THE L MEMBER SEAT WITH 5/8" ANCHOR O & M
TRIPLE DIPPED GALVANIZED SCREWS @ EA. " i =
. EACH SIDE OF BEAM STUDS 6” LONG ON BOTH R I
POST. USE (6) 3” TRIPLE DIPPED SCREW SIDES OF THE BEAM s 3 S e
WHERE RAILS BUTT TOGETHER. SEE 4/S1 5 3 K
26 P.T. CAP PLATE ———u / 16XES \ Y 2iE
BRIDGE DECK /M . W16X89 i r 0 oY
S2 NOTE: 1 ] - 1
SCALE: NTS \/ 4x4 P.T. POST 48" 0.C. MAX ALL P.T. TO BE GRADE #2 OR k\ f\\ oy >
ey e / (12) #6 AR F =1 - 9 S s |z|8] 3
o6 PT. RALS ALL FLAT GRAIN PLANKS TO BE REDI—ROCK | R T A \ sl IEIR] §
al,‘,ﬁf,iﬁgEBéﬁépﬂgE WP ] WALL SYSTEM N\ 9T — |[° 50 44 STRRUPS_|5] O T —P REDI-ROCK 8 |2/ -
1 — 0L RUPS_H . % —— __—WALL SYSTEM [¥ (| [a|S]| B
" YN Sl @ 12” 0C. | b o4 S QIS le2l§
(3) RSS TYP EA END 3" MIN BOTTOM . d c
SEE 5/S2 FOR RAILING DETAILS PN , , TI¥igT 2 S
6x6 P.T. BUMPERS ON 6x6 P.T.  ERNE 3 17X2'X8'—6" LONG AR 2 > S
/) OUTRIGGER & POST BEYOND SEE 5/S1 BLOCKING @ 6'~0" MAX SEE 4/S1 e AN - SR N | B
(1) 3/4” ¢ TRIPLE DIPPED GALVANIZED g —| | ©. o | CONCRETE BEAM SEAT C T = — P 4 1
THREADED ROD @ EACH TIE AT ” R SETI J 4 % Jle| 8
BLOCKING. USE WASHERS EA END. o (1) 3/4” ¢ TRIPLE DIPPED A4 —— \ 9 § 0| g 3
(1) 3/4” o TRIPLE DIPPED GALVANIZED GALVANIZED THREADED ROD v 50N
THREADED ROD @ EACH TIE AT W/WASHERS @ EA END. COUNTER D
e (1) 3/4” ¢ TRIPLE DIPPED BLOCKING. USE WASHERS EA END. ' pecy ANCHOR NEW TIES TO BEAM g 8
6 P E I VIIZED THAEADED ROD SINK NUT & WASHER @ BRIDGE © W/CONTINUOUS C3 STEEL BEAM SEAT DETAIL fé\ . 85
W/WASHERS @ EA END. COUNTER CHANNEL TOP & 24" LENGTHS SCALE. NTS @ JEEE
SINK NUT & WASHER @ BRIDGE DECK. OF C6 ON BTM USING 1/2 Nl o<
% BOLTS 48" 0.C. MAX. Elzlules §3§
5 SEE 5/S2 FOR DECK DETAILS & £lu 8¢ § §§4:
0
N 2x (2x6 MIN) P.T. PLANKS OVER 2x8 > . Jsigl 98%
0 EEN P.T. PLANKS. BOTH COURSES RUN Bz 18|58 =58
Il L z Q.
D{_E{EY 6t86" SMA')r(é iﬁiga i: . : | / Jgfﬁ'ﬁsl_LEkEw'ﬁgm'D(lsﬁ V\(/:ACI)QT\ASTV'?IEIJA?HESQ ox (2x8 MIN MOVE BLOCKS FORWARD DURING Q § % g é E'Q-Q
| " MIN) ROUGH OAK DECKING
THE GUARD RAIL SUPPORT. . = ——— ANCHOR BOTH LAYERS W/3 1/8 7 x (2 ) INSTALLATION TO ENGAGE SHEAR KNOBS
/ °l | CONTINUOUS ' 6x6 P.T. ; ANCHOR P.T. BASE LAYER W/3 1/8" (TYPICAL) =
o | | W/(2) 3 1/8” RSS @ EA END OF 3 1/4” — T TOP e
= ﬂ_—_"é_k PLANK & STAGGER BTWN RSS. USE 4" TIMBERLOK WOOD
(3) RSS SCREWS TYP EA 6X6 BEYOND W16X89 SCREWS TO ANCHOR TOP ROUGH NON—WOVEN GEO—TEXTILE FABRIC =g
{
/ . DECK & BUMPER DETAIL (52 6X6 TEES - T. 5§
SETBACK = 1 %" (41 MM g : :
NOTCH END OF 6x6 TO SCALE: NTS @ (5" WALL BATTER ANGLE) ) ‘f sgcs E
ACCEPT 2x6 OVERLAP 3_0"/ 7]‘! —] & 38 8
. é S i g g
W16X89 o 2 3E4E
6x6” TIE BEYOND STEEL BEAM L4X3X1/2" 10" LONG ON - 10”"X12”X1/2 CAST IN g’ 82 5 3
X EACH SIDE OF BEAM = BEAM SEAT W16X89 28" (710mm) ) §E8F
3/16 — ‘\/,.,; i%(ggsla k
- < - B A - o ™~ .
OUTRIGGER & POST DETAIL /4 ,, N R e = | AV ] = 3EEE |
_ =2 5/8” # ANCHOR STUDS [~ ile o] a1 T 0" (122 )] “4 & ( oo ] = o9& _§
SCALE: NTS U 6" LONG 3" FROM EACH-F= === L. - - , 74 - to*- \ . PO ST R N 5 < §
T — END OF THE L MEMBE 'Dﬁ_' i 0w N X | o ——— BACKFILL PER DESIGN g €
~ NN IR VN ) & Lo T REQUIREMENTS. INSTALL IN LIFTS 3
- ~ a e e N0 5/8” ANCHOR - — — 1 - =0 AN~ AND COMPACT PER PROJECT = =
d n g AR T T | STUDS 8”7 LONG — ~ TR | e (oo mm) SPECIFICATIONS. —
y L 4X3X1/2” 10" LONX e A e ~ S UL o
EITHER SIDE OF BEAM P | A Lo
10" AN C T R s N 'r— 1o 70 INFILL STONE (NO. 57 OR EQUIVALENT)
/ (e R /S ./~ PLATE 10X12X1/2" FILL BETWEEN ADJACENT BLOCKS (ALL BLOCKS
/ - Boat ] . BN f— j AN Lk FILL VERTICAL CORE SLOT (PC BLOCKS)
NOTE: STEEL MEMBERS SHAL BE MADE \ TR B S / = = \ NG et STaII\lNE TSL EXTEND AT LEAST 12" (305 MM)
FROM ASTM AS588 STEEL / 5/8"% ANCHOR Yot e AR / . BEHIND BLOCKS.
L — DS 6" LONG \ NN S oaa 5/8"¢ ANCHOR \ EO AT R R S g,
[ STUBS @ . Ty Tl T STUDS 6" LONG s P MIDDLE BLOCK \\\\\\\\\\;“e OF 04/////’/////
/_ _/ - - \" _\ ” ” ” . *
A l ) AN A \ RN N Lo A'g 3 H—6—AH3 \ , (TYPICAL) S AV 2 * T T 7
| | |
. TP w b s g o PRELIMINARY REDI-ROCK ABUTMENT SECTION 4” PERFORATED DRAIN PIPE
\ - L 4X3X1/2” 10" LONG / 81= -;|\ i 7 0= \ } 52
\ / EITHER SIDE OF BEAM TG Tt e | A3/16 \ SCALE: NTS
“ﬁ' = “_; - ,u " fo— P — — : e —
\ / R ——— J—10" PLATE 10X12X1/2” / NOTE: DETAIL TAKEN FROM REDI—ROCK IF S%'CE’K BOTTOM
/ fﬁ» C s o \ 1 / REDI—ROCK ABUTMENTS ARE TO BE USED
N . N CONTACT PLYMOUTH ENGINEERING FOR DETAILS
\ » N N ~ \ ” _ ” SHEET 33 OF Bq
5/8"¢ ANCHOR / D N = ) / 6” THICK, 1—1/2" CRUCHED ROCK
N\ L~ STUDS 6" LONG V. < ‘; < \ 5/8"¢ ANCHOR LEVELING PAD ON 12" GRAVEL
= STUDS 6” LONG / COMPACTED TO 95% STANDARD
N . PROCTOR, WRAPPED IN
{%LBJ%VZ _ 7 BEAM CONNECTION DETAIL /7\ N \’% o P e | NON—WOVEN GEO—TEXTILE FABRIC
™~ - -~ SCALE: NTS @ ~ —




